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Effect of Wheel Alignment on Rolling Resistance of Automobiles
Shuji NISHIYAMA, Shin HARADA and Shigeru MORITA

This pgper presnts ralling ressance of automobiles. The whed dignment such as toe angle and camber
angle has an effect on vehide handiing and g&bility. In driving cars the totd of the power which acts on the
opposte direction, thet is cdled running resstance should be diminished. It is necessary to undersand the
principle of occurring the running resistance and to condder the influence on running performance. The running
resgance consdts of the following four factors rolling resstance, ar ressance, indination resstance, and
accderation resistance. In this research, theinfluence of rear whed dignment of reer whed of acar exertsonthe
ralling ressanceisexpearimentaly investigated. Theexperimenta devicesare dso deve oped intheressarch.
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Items Vehicle 1 Vehicle 2
Registration year 2003.May 1994.Nov.
Total mileage (km) 12000 85000
Tire 225/55/R16 205/55/R16
Wheel base (mm) 2700 2780
Weight of vehicle (kg) 1330 1380
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(5 )
1 0 0 5414
2 IN 5 IN 5 5012
3 IN10 IN10 4294
4 IN 5 0 5328
5 IN10 0 4974
6 OuUT 5 IN 5 5350
7 OuUT 5 OuUT 5 5368
8 OuUT10 OUT10 4866
9 OuUT 5 0 5196
10 OUT10 0 5158
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